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Calculators are NOT permitted.

Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE
TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. If the information printed on your answer sheet is not correct, please
inform the invigilator immediately.

4. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next to
each answer box. No mark will be given if you failed to follow this
instruction.

5. Unless otherwise specified, all answers must be in exact value and in
its simplest form. Writing the units for the answers is NOT necessary.

6. Rough-work sheets provided will be collected at the end of the contest
but they will not be marked.

7. Diagrams in this question booklet are not necessarily drawn to scale.

PREF : 50 1iE

AAFHEAFTER.

ELEHAN :

1. REMEBE, N2BWELEES.

2 BENMEEHENEENEE LR E R ETRE.

3. BRHEEMA LN HMERETEFEN. MEME, BEF.
4

FASROARESEEN, DEMAREES. BOEENELES
“HMEE, FEREERERER.

5. BIEBEHARE, FASRURBSHSEM, BLENERBER
B FRER.

6. LB AEMBEE S RIE S FMERR, BERKEFESNETY
e P ]

7. M FIEE R M B AR —E KL BIAERK -
© 2022 MathConcept Education

fn Question Booklet

—m
Jdm



MathConceptition 2022

1) 84+26=2 [1%]
2)  283+167=2 [1%]
3 102-14=7 [1%]
4) 701 -283="7 [1%]
5) 15x8=2 [1%]
6) 23x7=2 [1%]
7) 288 +9=9 [1%]
8) 162 +6=2? [1%]
9) 1+3+5+7+.+21=2 [1%]
10) 85+19+19+19+19+19=29 [1%]
11) 13-39+47-10="2 [1%]
12) 263 +326+632="2 [1%]
13) 9X15+7 x21-8x24=72 [1%]
14) 125X 7 X4 X 8X25=2 [1%]
15) 12X63+12x56-19 % 12=2 [1%]
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16) Find the missing number. [2%]
HES ERIEFE.
4 minutes and 24 seconds = seconds
4 HE 24 Fh = %

17)  An apple costs $4. An orange is $2 more expensive than [2.1%]
an apple. How much do 18 apples and 15 oranges cost?

—EERE 4. —EAEL—(EERE2IT. M
18 EFERM 15 EELES T?
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18) A sandwich costs $18. Tim has $50. If he wants to [2.2%]
buy 4 sandwiches, how much more does he need?

— =3B E 18T KXAABES0T, MREMBE
BE4H4=38, BEEEZDIT?

19) Ateacher has 50 candies. If he wants to divide all the candies [2.3%]

equally among 8 students, at least how many more candies
does the teacher need to buy?

EMAMRER S0, MRZLLHWERFIDHE 8 &
24, ZERVESERRS DALY

20) A has $75 more than B. C has $93 less than B. If B has [2.4%]
$99, how much more does A have than C?

HtkZ2% 75 £, AkZ24 93 ;T MRZE 99 &>
1e ASEE 20
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21) A quadrilateral has only one pair of parallel lines. It is a/an [2.5%]
?

—EMEFERBF—EFTHR, E-—E ? X

22) The bus departs every 25 minutes. Tiffany arrives at the [2.6%]
bus stop at 08 : 45 but the previous bus has left the stop at
08 : 37. How many minutes does Tiffany have to wait for
the next bus?

B+& 25 piEMAE—. NEE 08 .45 FliEER L
i F—IFE+E2/R 08 . 37 BT, MEZ L /Dy
EAOERE T —IEL?
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23)

Peter’s father is 22 years older than Peter. If the sum of [2.7%]
their ages after 8 years will be 56, how old is Peter now?

REMSEILRIEA 2%, MESEE, BMAZA
MREHR 56, RIESES D

24)

There were some apples in a fruit shop. On the first day, [2.8%]
the store sold half of all the apples. On the second day, the

store sold half of the remaining apples. On the third day,

the store sold 28 apples and all the apples are sold. How

many apples did the shop have originally?

KREBE—HMIEBER. F—X, kKREEXTEHE
RH—F. F2K, KREEEZTHTHERN—F.
F=ZX, KRIEBET 28EER, FHEMERE
T 7. KRERAERZVE?
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25)  Edmond went to bed at 22 : 15 last night. He waked up at [2.9%]
06 - 35 this morning. How many minutes had he slept?

EERE22:15 LRREER, £=H 06:35 K. 48
HEET HDiE?

26) If the sum of all digits of a 5-digit even number is 28, what [3.0%]
is the largest possible value of the number?

—ERMEHHNERNFZIME 28, EEBFAREZD?
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27) A number times 6, then minus 6, then divided by 6, then [3.1%]
plus 6 and the answer is 100. What is the original value of
this number?

BA—EE, ELL6, BiFE 6, BIREL 6, HEMO,
ZXBIFR 100, SEHEELRZSD?

28) The sum of 4 consecutive odd numbers 1s 224. Find the [3.2%]
value of the smallest odd number.

MR 4 AEEZESEEHPIFE 224, K 4 AP R/NBH—
[EE
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29)

The number of Chinese books 1s 200 more than that of

English books. The number of Chinese books is 5 times
that of English books. What is the number of English
books?

FXEILRIES 200K, P XERNEE BRI EN
5{E. ARXEFEZDAR?

[3.3%]

30)

A mathematics lesson lasts for 55 minutes. Jeff can solve
a mathematics question every 6 minutes. However, he
needs to rest for 1 minute before starting another question.
At most how many questions can Jeff solve in the
mathematics lesson?

BHHERF S niE. REFGOONETUER—

BEEE. A, MLEKE | TESEREETE
T . —HIBMERP, REKSUTHE MEH

27

[3.4%]
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31) Iftoday is Saturday, which day of the week is it after 500 [4.0%]
days?

Kt

BRSRXEEHS, 500 HE2ERR%?

32) There are four $10 notes, four $20 notes, four $50 notes [4.1%]
and four $100 notes. With at least one note used, how
many different values can be formed by using these
notes?

MREAF 10T, 20 ;L. 50 JT. 100 JTHEFEAREE & 4
R, EEMEA—RMERFRT, £TEKSD
BAEEERNAES?
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33) Ateacher has some candies. If each student gets 6 candies, [4.2%]
35 candies are left. If each student gets 8 candies, 9 more
candies are needed. How many students are there?

ZMAE—LRER. MRDGEMRE 6 HIER, &R
T 35 RIHER. MRTHEEA S HER, EX 9 R
R. BERZZ DA

34) To cut a wooden stick into 5 pieces, 20 minutes are [4.3%]
needed. To cut a wooden stick into 30 pieces, how many
minutes are needed?

1 —IRARRREERL S5 X, FHF 20 72, HF—RARIE
AL 30 . FBIFZADTIE?

P10
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35) There are some chickens and pigs in a farm. If there are 43 [4.4%]
heads and 118 legs in the farm, what is the number of
chickens in the farm?

RIGNBHEMFE, 5 43 (EEE. 118 1B, Ri5
HHHEZVE?

36) Tim and Peter joined a burger eating competition. Tim can [4.5%]
finish a burger every 6 seconds and Peter can finish a
burger every 9 seconds. After how many seconds from the
start of the competition, the number of burgers eaten by
Tim is 10 more than that by Peter?

INERFINESINT KB ELLE, MBE 6 FAIZTE—
BEE, MEBIMWIZE—EEE. LEMKRES
bFy, MNAERCTEREENRES L /MES 10 /8?2

P11
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37) At least how many students are needed to ensure that [4.6%]
at least 5 students’ birthdays are in the same month?

RVERZVZB2EAARREDR S BEER
SHRAMER—ER?

38) There are 144 coins and one of them is lighter than the [4.7%]
others. With the help of a weight balance, at least how
many times should the balance be used to find out the
lighter coin?

B 144 B, Eb—EE£ERNESEREME,
BEXAE—E, RVEEFRAXRES DR, A1
AKX UHABEREN ST

P12
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39)

There are 308 oranges. If these oranges are divided
into certain numbers of groups and the numbers of
oranges in these groups are all different, at most how
many groups can be formed?

H308 %, MRELELBTHETH, M
—HERNHEHAE, KA THSDHE?

[4.8%]

40)

P13

Writing all the natural numbers i1n order like
“123456789101112...”, what is the 2022™ number?

KRB ERBEFEETHNT © 123456789101112...,
22022 EEF R T AE?

End of paper
£ET

[4.9%]
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